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4 An equation is modeled.

1 1
X X X X X 1 1 = 1
1 1

What value of x makes the equation true?

F 1
G 7
H -5
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20 Walter and Brian each have a CD collection.

¢ The number of CDs in Walter's collection can be represented by x.
¢ The number of CDs in Brian’s collection is 3 times the number in Walter's collection.
« The total number of CDs in both collections is 144.

What is x, the number of CDs in Walter's collection?

F 108
G 48
H 72
J 36
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44 \What is the value of x in this equation?
2x + 2 =-52

Record your answer and fill in the bubbles on your answer document. Be sure to use the
correct place value.
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18 The model represents an inequality.
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What is the solution set for the inequality?
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27 What is the solution to this equation?
30.16 = 17.56 + 5x
6.032

3.512
12.6
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2.52
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7 What is the solution set for—4x— 10 < 27
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28 The model represents an eguation.
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What 15 the solution for this equation?

F x=23
G x=15
H =5






